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e 1. glders TS QeIReA T WA B §Y 135 9 225 1 HEqH FAYad® (HC F) 91 BIforg ?

Question 1. Using Eucleds Division Algorithim find the highest comman factor of 135 and 225 ?

e 2. O 9gUE 2X—10X+8 B YLD BT AT G U A BT ?

Question 2. Find the sum and products of the zeros of the Quadrative polynomial 2x’-10x+8 ?
go 3. T TEETT X10x+25=0 B HeAl BT el HIT BT ?
Question 3. Find the nature of the roots of the Quadrate Equation X-10x+25=0
7o 4. AR Sl (A P) & smren ue fofEg ?
S8, By VI8 it

Question 4. Write the next value of the Arithmatic

Progression series (A.P) y2, 8, 18, s
7% 5. Sin® 26+Sin’ 64 ® A A DI ?
Question 5. Find the value of Sin 26+Sin 64 ?
9% 6. %W%Wa@oﬁo,3@0#{0?13@0%@@%%@&%%%
Question 6. Prove that sides 5 Cm, 4 Cm and 3 Cm are the sides of a Triangle ? i
o 7. e e g @ g R feer vaet g Wi o e € 2

Question 7. How many tangents can be drown from a External point of a circle ?



e 8. HAEY SMpfd] & & JaTexvT ST ?

Question 8. Give two examples of a similar shapes ?

7T 9. T S UTGfad HR &1 Hiey §id BIfog ?

Question 9. Find the mean of the first ten natural numbers ?

7T 10. gfe P(E)=0.05 g 1 ‘E- 781 "P (E”) &1 uri¥rehar =1 g ?

Question 10.If P(E)=0.05 then what is the probality of ‘E- nd or "P (E”) ?

T 11, Ue fRETd 9gue STd BTy fed el &1 AN g UG HAY 4 918 7

Question 11. Find the ovadratic polynomial whose sum of the zero’s and product are respectively 4
and 1?7

e 12, gfe 5 SinB=3 @I tan® &1 A 1d DI ?

Question 12.1f 5 Sin®= 3, the find the value of tan§?

79T 13, =gl (-5, 7) T (-2, 3) & drar B 0 =G B ?

Question 13. Find the distance between the points (-3, 7) and (-2, 3) ?

e 14, fzrr % afe DEIIBC g ar CE &1 719 =1 ®ifsy ?

Question 14. If the given figure if DEIl BC, then find the value of CE ?

7T 15. v S ¥ 3 Wt IR 5 Fe e € 39 I W UF IS dgwedA Mprell SR ¥ | §HDHl
mima @ e 5 () e (i) el 2|
Question 15. In abag there are 3 red Balls and 5 black Balls. If one of the ball is randomlly taken
out than find the probability that (i) Itis ared Ball (ii) TItisablack Ball
OR
U U B TH IR BHT A & | FrEAfRad ol 9 B Bl JEddr s S ?
) TP oma W ¥ (i) 2 3R 6 & B W@ 2|
If a dice is tossed once, Than find the probability that

(i)  Itisan prime number (ii) Any number between 2 and 6.
OR
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Prove that 3-45 is an isrational number ?

T 16. %Wa#@aﬁ%@mﬁm%wﬁwmﬁm
_t — =1
x-1  y-2
6 3
x-1

y-2

Question 16. Solve the given below pair of equation by reducing it to the linear equation in two

varables. 5 [ :
x-1  y-2
6 3
—_—t— =1
x-1  y-2

79 17. g wads (H C F) (306, 657) =9 faar g, agee wade (L C M)

(306, 657) FId BT ?
Question 17. If HC F (306, 657)=9 is given find the L CM (306,657)7

1Q;
9 18, ﬁq:—g ;}?’rﬁ?rq ﬁ; _ CosA P 1+Sin A .
1+Sin A Cos A

) Cos A 1+SinA
Question 18. Prove that - + =2 secA
1+Sin A Cos A

T 19, frour 42 oo T UG B TH Tl BT FALATHY 6.0 W00 ATl Th Ier T B w9
e TTAT & | 9o B SaTs Fd by ?

Question 19. A sphere of radius 4.2 Cm. is metted and moulded to form a cylinder of radius of

6.0 Cm. find the hight of the moulded cylinder ?

T3 20. T AR SO (A P) ¥ 50 T & | forger 9RT Ug 12 & 3R IfaW ug 106 B |
SAHT 201 U ST DI ?

Question 20. In an Arithmatic Progretshson series these are 50 terms whose third term is 12 and last
term is 106. Find the 29 - term of the given AP ?

7T 21, Uﬁﬁﬁ(x,y)(lﬂ)aﬁ?(l())mﬁﬂﬁﬁﬁﬁﬁm% x+3y=7

Question 21. If the points (x, y) (1, 2) and (7, 0) lie in a straight line then prove x+3y=77?



ue 22 HAGROT B ol S DI ?

Xe — =3 X #0

Question 22. Find the roots of the given equation ?

X-—— =3 X #0

79T 23, A B 3R CD &= O T it 21 Ho¥lo d2r 7.0 Aol dTel &1 Wb gali & hHen
A A ¥ AR £ AOB=30" 2 & swEifhd 91T BT &b T BT ?
Question 23. There are two arcs AB and CD of two concentric circles hair by centre O and ralii 21

Cm. and 7 Cm. respectively if£AOB=30", find the area of shadded side.

UF geneR o, e o 32 WMo € @ 4 § uh wHaTg st A B C Bred
TU U [EoigH I g B | oI b el # fewrar war ¥ 1 g9 v f$ongd &
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In a circular table cloth whose radius is 32 Cm. a design is made by leaving whole
part of a equilateral traingle as shown in the given figure. Find the area of the shaded

design ?

T 24, v Bt AB C 918Y s BC=6.0 0, AB=5.0 %i0¥10 31X £ ABC=60"z1 fiR
U BRgoT &1 AT BIRY et oy RSt ABC &1 e {oTiatl &1 3/4 & |

Question 24. Constract a trangle AB C of B C=6.0, CmAB=5.0Cmand ABC=60"Then
constract a tringle whose sides as correspondent side and 3/4 '0f tha trangle ABC.

TE 25. wlﬁﬁmzﬁmﬁ@ﬁﬁwmﬁ%ﬁr@?aﬂwmao“éaﬁqw$mﬁ@®
SR B Ry BT 9E B0 60§ | Al MAR 50 Hex S B A1 HIA B S A
PHIfTY ?

Question 25. The angle of elevation of the top of a building from the foot of the tower is 30'and
the angle of elevation of the top of the tower from the foot of the building is 60'if the
tower is 50 m. high, find the hight of the building.
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Question 26.

I faor ganm dev1 us de & 30 fenRial & wR gl <@ 2 fenfil & Arne WR
IR RGN 1
The distribution below gives the weights of 30 students of a class. Find the median

weight of the students.

A (Rrowmo )[40 -45 | 40-45 150-55 |55-60 [60-65|65-70|70-75
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Question 27.

U3 28.

Question 28.

Y39 29.

Question 29.

U3 30.

Question 30.

gR AT H 1 O TN R AT 1 9T < A1 = 1 H 9ga ol 21 e B A 1

WA TB1 /28 Sl 8| 98 M=T @ar & 7

A fraction reduces to 1 when we add 1 to the numerator and substract 1 from the

denominator. It becoms 1/2 if we only-add 1 to the dinominotor. What is the fraction.
OR

Ue fipbe EH & B9 A 7 dool TAT 6 e 3,800=00 T H W] 41€ H IH 3 doed

qorr 5 1< 1750=00 T H WNIE! | YD dool 3R TAS T DI HeI S BIFTY ?

The coach of a cricket team buys 7 bats and 6 balls for Rs. 3800=00. Later she buys

3 bats and 5 balls for Rs 1750=00. Find the cost of each bat and each ball.

UF SN U el R WS U 3| & MHR & & e B 1.0 Ho#Ho & T

i B SaTS IHS! I B WA ¢ | T I BT AT LD UST F S BT ?

A solid is in the shape of a cone standing on a hemisphere with both their radii being

equal to 1 Cm. and the height of the cone is equal to its radius find the volume of the

solid in terms of 7T .

v PR ABC Rt 1or C waa & @1 gotisil CA 8ik CB swer fag D ok E

Rerd ¥ Rig #ITT f AE BD'=AB* DE*? |

D and E are points on the sides CA and CB respectively of a tringle ABC right angled

at C. Prove that AE+ BD'= AB™+ DE’ 2
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OR
Rig ERTT & ve G Brget § @9l @1 o A9 < ol B 9l & AT D R
S| W BT T aR UE G @ oS ST BRI O 5 U@ dIaR R g9 6K fe@
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25 ®0 B W E ?
Prove that in a right tringle, the square of the hypotenuse is equal to the sum of the
squares of the other two sides. A ladder is placed against a wall such that its fort is at a

distance 6 m. above the ground. find the length of the ladder using the theorem.



